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A dice or cube is a three-dimensional entity
or object. The dice is usually in the form of a
cube, i.e. its length, width and height are equal.
In other words, we can say that there is a three-
dimensional object / property which is equal in
length, width and height, such object is called
dice. Its a fact that an object in the shape of a
cube can be a dice. In this chapter, we will
discuss dice made in the form of a cube.
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Dice in Cube form Dice in Cuboid form

After looking at these figures, we find the
value of the opposite sides of a cube.

There are two types of dice:

1. Standard Dice: The dice in which the
sum of the values on the opposite faces is 7.

Standard Dice

3 opposite to 4

6 opposite to 1

S opposite to 2.

2. Common Dice: The dice in which the
sum of the opposite faces is not 7 instead the
values on adjacent sides add up to 7.

Common Dice
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Form the following two different appearances of
dice find out the number which is opposite to 'S'

T SET-3TN JHR & I8 SURLA R A U9 § 5%
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2 2
5 (3 3 6
(A) 2 B) 3
(C) 4 (D) 6

Form the following two different appearances
of dice find out the number which is opposite
to 'l

T AT THFR B UG ST T SN U9 § 1

foradra == & demn sm?
6 6
12 (53
(A) 1 (B) 2
(€) 3 (D) 4

Three positions of a dice are given below.
Identify the number on the face opposite to 6.

T U 1 < Tefa w1 gwin @ @ 6 % fawda
TdE HI & FaE|

3 3 4
6 5 5

(A) 1 (B) 4

(C) 5 (D) 6

Position of Dices is given below:

Identify the number when top is 5 what will
be at bottom?

T T w1 feufml = T R e w ud ude
T 52 d sHH! (Toel ¥qe W A o qEw g?

(A) 6 (B) 3
(C) 4 (D) 2
Which number appear in the face opposite
to the face with number 4?

fe3 ™ U | 4 % fauda @ w1 g aE?

(A) 1
(C) 3
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6.

10.

Study the following figures and find out the
number opposite to 3.

fear mu fora =t Fdteror ohed gW 3 & faodia S saey?

(A) 6 (B) 4

(C) 5 (D) 2

Study the following figures and find out the
number opposite to 2.

e o fom =t Fdteror s U 2 & faadia wen aaen?

(A) 1 (B) 4

€ 5 (D) 6

A dice is thrown four times and its four different
positions are given below. Find the number on
the face opposite the face showing 2.

TH U9 I 9) 9R BH S 7 AR 9 feefa
STE-ST o = S 9 <1 T ® a9 2 & faudd
(A) 4 B) 5

TEAT AR ?
(C) 6 (D) 3

Form the following two different appearance of
a dice, which number lies to the opposite of 2?

T I 1 ) feafa gt = € 9 e 2 % fawda
1 HE&AT AR 7

(A) 1 (B) 4
(C) 6 (D) 5
Four positions of dice are given below. Which
letter will be opposite to D?

T o 1 IR feerfEt i et T R @ oaEt o
D & fooda e7&r =/ shm?
Questions figure / 9% 3TKfd:

&

W&

(a) (b) (© (d)
(A) B (B) C
(C) D (D) A



15.
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14.

. Three positions of a dice are given. Find out

which number is found opposite the number
2 in the given cube.

T o I 9 feofan et wh @ @ o 2

% fowia ge &t JaRy?
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(@) (b) (©)

(A) 6 (B) 5

(C) 3 (D) 1

Two positions of a dice are given. Which
number would be at the top when bottom is 2?

T Hae 1 < feafaa <eie woh € 9 freeh wde =
2% A U9 % S Hag W HE&Al FaqiE ?

5] 1

(a) (b)
(A) 4 (B) 1
(C) 5 (D) 6

Four different positions of a dice are as shown
below. What number is opposite to face 3?

TF U9 H 9R feufgd B = i o e @ 3@

faudta T =+t W& TqEy?

P P Y Y
(A) 4 (B) 3
(C) 2 (D) 6

Which of the following dice can be created
by folding the given figure?

&3 TTu Tot w1 HigeRt 71 & @ i | U = S
T 772

Questions figure /97 3T fd:

(A

w|mn|m|

D

Answer figures /STR 3T faal

T E E )
B |2 FI2||[ BV E[2
(a) (b) (©) (d)
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16.

17.

18.

4 SAFALTA CLASS

An Initiative by 3THIISTIcTl

Three different positions of a dice are as shown
below. What number is opposite to face 2?

TF 9 F d Fefaa = = ot e 1 d 2 &+
forafta H-wt Sen e ?

3/ 3/ 4
6|2 519 52

(A) 4 (B) 5

(C) 3 (D) 1

Four positions of a dice are given below. Identify
the number at the bottom when top is 6.

T T R et w A geie ™ e A s
HaEe W 6 ¢ 38 9 Hag &1 Hedn Faet?

PRYY

A) 1 (B) 3

(C) 4 (D)

Four positions of a d1ce are given below.
Identify the number at the bottom when the
number on the top is 2.

I Tk 9w =R fefat @ A= ek T @ af
HI T TqE W 2 B d el 9d8 W & 9qEa?
(A) 3

8 g8

(B) 5

(D) 6
Four positions of a dice are given below.
Identify the number at the bottom when the
number on the top is 2.

I T T8 F =R et @ A9 gt T e Ak =
F FU GdE W2 B a1 el g W ged adEn?

PIYBIE

(B) 3
(D) 5

A) 6
(C) 4

. Two positions of a dice are shown below.

When the heart shape is
will be at the bottom?

T U w1 <) feefr B A gt T At o b e
% YPR SI Tdqe W B o el Tde W 82

at the top what
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(A) s B) @
€ O o)
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20.

21.

22.

23.

24.

Three positions of a dice are shown below. What
will come opposite to the face containing '$'?
J= & wmEn & A Tefae <ol 0 R wde o
% faudia "o W HE-9 e fHg A

%
$

A +

&

(A) % B) &

(C) 7 (D) +

Three position of a dice are shown below.
What will come opposite to face containing '5'?
F T wrEn F i feofwr gz T € ot 5 % fauda
TAh W HA-T FE SAEM?

3 5 1

5 4 2

(A) 1 B) 3

(C) 4 (D) 6

Four positions of a dice are given below. Identify
the number at the bottom when top is 6.

= T T w1 =R feefaar <uiE T 21 AR w6 W
F BA® R &, @ Tl haw W HHE-91 3R AE?

NEINAINAIN

(A) 1 (B) 3
(C) 4 (D) 5
Three positions of a dice are shown below.
What will come opposite to face containing 'N'?

49 T U 5 < feufan gulz T €1 SR 'N' @ faudd

Welh T RH-FI AR AEM?
/ﬁ P ﬂ
Q b d ‘S
W® (=] (2]
(A) P (B) Q
(C) S (D) R
From the given options, which figure can be
formed by folding the figure in the question?
frrfafaa fased § @ ®H-6 W opia w7 § & T
SRR 1 HIEHL oE S el &7

1 6
2
315
4
@) ®)
(©) (D)
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26.

27.

. Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

Frefefea ST esfd ¥ 9§ ®F W 5 KT T ge eegta
T gd B 9 I el S gehar?
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(D) %

From the given options, which figure can be
formed by folding the figure in the question?

Trefafeaa fasmed o 9 S-S erHfd g1 ° @
TE Sl B AGHL ANE I wHA 22

I

a) Only A / ®adA

b) Only Aand C / ®ad AT C

c) OnlyA,CandD /&a@ A, CTND
d AllA B,CandD /94t A, B, CAaD

From the given options, which figure can be
formed by folding the figure in the question?

Trefafed fased & @ FA-H ST HfG g7 § @

T MpTa 1 AIgHT SE S Tehell €2
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(A) Only A / &aA A
(B) Only Band C / #a@BaC

(C) Only A and C / IAATAC
(D) Only A,B&D / %a@ A, Bas D
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Initiative by 3THR3STIC

28. Four positions of a dice are given in the 29. Consider the following pictures of a dice:
question figures. Identify the number at the & T % Frefafed o w6

ST 6 F A A F FA A What is the number opposite to 17?
| % fawda wH-d gen 22

0 0 (A) 2 B) 3 (C) 5 D) 6
30. What is the number opposite to 4?
4 % faudia ®F-w i 22

B) 4 @

1
(€ 5 (D) 2 (A) 2 (B) 6 €)1 (D) 3
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